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1 |deiEE 6.0E+1 60.1 4.0E+0 40 64.1
2 |EHE 1.4E+0 1.4 14
3 |BEFE 5.2E+0 5.2 5.2
4 |EHE 1.6E+1 16.3 16.3
5 (AR 6.8E+0 6.8 6.8
6 [ILZE 9.0E-1 0.9 0.9
7 |fRBE 2.3E+1 22.7 227
8 |ZWE 5.9E+0 5.9 5.9
9 |HAE 1.1E+0 1.1 1.1
10 |HER 4.5E+0 45 45
REEET! 3.4E+1 33.9 7.6E+1 76.0 109.9
12 |TER 1.8E+0 1.8 18
13 |HREER
14 |[#E)E 2.6E+0 2.6 2.6
15 |FiRk 8.8E+0 8.8 8.8
16 |[EWE 4.0E-1 0.4 0.4
17 |RINE 4.2E+1 42.1 42.1
18 |f&@HE 8.3E+0 8.3 8.3
19 [ILEE
20 |REFHER 1.3E+1 12.7 12.7
21 |IKEBR 1.7E+1 17.1 17.1
22 |E&mER 1.8E+1 17.9 17.9
23 |BHIR 41E+1 41.0 41.0
24 |=ZER 1.6E+0 1.6 1.6
25 |#HER 2.1E+0 2.1 2.1
26 |REAT 1.5E+1 15.4 15.4
27 | KRFF
28 |EER 2.1E+1 21.1 21.1
29 |ERR 5.0E-1 0.5 0.5
30 |FNFLE 4.1E+0 41 4.1
31 |BIE 5.6E+0 5.6 5.6
32 |BRE 3.5E+0 35 35
33 |[ELE 2.2E+1 21.7 21.7
34 |[LER 2.2E+0 22 2.2
35 |ILOg 5.0E-1 05 05
36 |fESR 2.3E+0 2.3 2.3
37 |BNE 1.0E-1 0.1 0.1
38 |ZiER 1.1E+1 1.2 11.2
39 |E&E 6.0E+0 6.0 6.0
40 |fERR 1.3E+1 13.2 13.2
41 |*EER 5.8E+0 5.8 5.8
42 |RBE 1.2E+1 12.2 12.2
43 |EEARER 1.2E+1 119 119
4 | KRR 7.8E+0 7.8 7.8
45 |FIFER 2.7E+0 2.7 2.7
46 |EBESER 3.3E+0 33 33
47 | HEER 3.2E+0 32 32
£ E 4.7E+2 469.5 8.0E+1 80.0 549.5
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